

APPROXIMATION OF GENERALIZED PĂLTĂNEA AND HEILMANN-TYPE OPERATORS

Sandeep Kumar and Naokant Deo

Abstract. In this paper, we study the approximation on differences of two different positive linear operators (generalized Păltănea type operators and M. Heilmann type operators) with same basis functions. We estimate a quantitative difference of these operators in terms of modulus of continuity and Peetre's K -functional. We represent the rate of convergence, using modulus of continuity and Peetre's K -functional. Also, we represent Heilmann-type operators in terms of hypergeometric series.

1. Introduction

In order to discuss the approximation properties of linear positive operators the rate of convergence is one of the important characteristics. Several methods and techniques have been applied to investigate and estimate the rate of convergence of positive linear operators. Motivated by an article of Acu and Rasa [1], we establish some quantitative results on the difference of generalized Păltănea type operators (1) and Heilmann type operators (4). In our estimation positive linear functionals in quantitative form play an important role. So, we are ready to obtain some information about the rate of convergence of the quantitative difference of these positive linear operators. Recently, the difference of positive linear operators have been discussed by many researchers [2, 3, 5, 7, 8, 11].

For $f \in C^\gamma[0, \infty) = \{f \in C^\gamma[0, \infty) : f(t) = O(t^\gamma), \gamma > 0\}$, Verma [15] defined the following generalization of Păltănea type operators based on certain parameter $\lambda > 0$ in the following way:

$$L_{n,c}^\lambda(f, x) = \sum_{m=1}^{\infty} \vartheta_{n,m}(x, c) \mathcal{H}_{n,m}(f, x), \quad (1)$$

where

$$\mathcal{H}_{n,m}(f, x) = \int_0^{\infty} \Phi_{n,m}^\lambda(t, c) f(t) dt + \vartheta_{n,0}(x, c) f(0), \quad (2)$$

2020 Mathematics Subject Classification: 41A25, 26A15, 41A30.

Keywords and phrases: Difference operators; generalized Păltănea type operators; Heilmann type operators; modulus of continuity, rate of convergence.

$$\vartheta_{n,m}(x, c) = \frac{(-x)^m}{m!} \varphi_{n,c}^{(m)}(x);$$

$$\Phi_{n,m}^\lambda(t, c) = \begin{cases} \frac{n\lambda}{\Gamma(m\lambda)} e^{-n\lambda t} (n\lambda t)^{m\lambda-1}, & c = 0 \\ \frac{\Gamma(\frac{n\lambda}{c} + m\lambda)}{\Gamma(m\lambda)\Gamma(\frac{n\lambda}{c})} \frac{c^{m\lambda} t^{m\lambda-1}}{(1+ct)^{\frac{n\lambda}{c} + m\lambda}}, & c \in \mathbb{N}, \end{cases}$$

and

$$\varphi_{n,c}(x) = \begin{cases} e^{-nx}, & c = 0, \\ (1+cx)^{-\frac{n}{c}}, & c \in \mathbb{N}, \end{cases}$$

where $\{\varphi_{n,c}(x)\}_{n=1}^\infty$ is a sequence of continuous functions defined on $[0, b]$, $b > 0$ and for each $n \in \mathbb{N}$, $m \in \mathbb{N}^0 := \mathbb{N} \cup \{0\}$ satisfies that $\varphi_{n,c}$ is monotone with $(-1)^n \varphi_{n,c}(x) \geq 0$ for $x \in [0, \infty)$ and $\varphi_{n,c}(0) = 1$.

Lastly, there exists an integer c such that $\varphi_{n,c}^{(m+1)}(x) = -n\varphi_{n+c,c}^{(m)}(x)$, $n > \max\{0, -c\}$; $x \in [0, b]$. It can be verified that the operators $L_{n,c}^\lambda(f, x)$ are well defined for $f \in C^\gamma[0, \infty)$.

Moreover, for $\lambda = 1$, the operators (1) reduce to the Srivastava-Gupta operators [14]. For $c = 0$, $\lambda > 0$, we obtain a modified operators due to Păltănea [12]. And, for $c = 0$, $\lambda = 1$ operators (1) reduce to Phillips operators [6, 13].

It can be easily observed by simple computation of (2) that:

$$\int_0^\infty \Phi_{n,m}^\lambda(t, c) t^r dt = \frac{\Gamma(m\lambda + r)}{\Gamma(m\lambda)} \frac{1}{\prod_{i=1}^r (n\lambda - ic)}. \tag{3}$$

For $r = 0$, we get $\int_0^\infty \Phi_{n,m}^\lambda(t, c) dt = 1$.

In 1988, M. Heilmann [10] considered a sequence of continuous functions defined on the interval $[0, \infty)$. This sequences is defined as follows:

$$M_{n,c}(f; x) = \sum_{m=0}^\infty \vartheta_{n,m}(x) \Upsilon_{n,m}(f, x), \tag{4}$$

where $\Upsilon_{n,m}(f, x) = (n - c) \int_0^\infty \vartheta_{n,m}(t) f(t) dt. \tag{5}$

For $x \in [0, \infty)$, $\vartheta_{n,m}(x) = (-1)^m \frac{x^m}{m!} \varphi_n^m(x)$, where

$$\varphi_n(x) = \begin{cases} (1-x)^n & \text{for the interval } [0, 1] \text{ with } c = 1, \\ e^{-nx} & \text{for the interval } [0, \infty) \text{ with } c = 0, \\ (1+cx)^{-\frac{n}{c}} & \text{for the interval } [0, \infty) \text{ with } c > 0. \end{cases}$$

By simple calculation, we obtain

$$\Upsilon_{n,m}(f, x) = \frac{(m+r)! \Gamma(\frac{n}{c} - r - 1)}{c^r m! \Gamma(\frac{n}{c} - 1)}. \tag{6}$$

In this article we consider only two cases: $c > 0$ and $c = 0$.

2. Basic results

In this section, we discuss some lemmas which will be used in the main results.

LEMMA 2.1. For $e_r(t) = t^r$, $r \in \mathbb{N} \cup \{0\}$ the moments of operators (1) are:

$$\begin{aligned} L_{n,c}^\lambda(e_0, x) &= 1; \\ L_{n,c}^\lambda(e_1, x) &= \frac{n\lambda}{n\lambda - c}x; \\ L_{n,c}^\lambda(e_2, x) &= \frac{1}{(n\lambda - c)(n\lambda - 2c)}[n(n+c)\lambda^2x^2 + n\lambda(1+\lambda)x]; \\ L_{n,c}^\lambda(e_3, x) &= \frac{1}{(n\lambda - c)(n\lambda - 2c)(n\lambda - 3c)}[n\lambda^3(2c^2 + 3cn + n^2)x^3 \\ &\quad + 3n\lambda^2(c+n)(1+\lambda)x^2 + n\lambda(1+3\lambda+\lambda^2)x]; \\ L_{n,c}^\lambda(e_4, x) &= \frac{1}{(n\lambda - c)(n\lambda - 2c)(n\lambda - 3c)(n\lambda - 4c)}[(c^2 + nc)(2c+n)(3c+n)\lambda^4x^4 \\ &\quad + 6(2c^2 + 3nc + n^2)(n+c\lambda)\lambda^3x^3 + (c+n)(7c\lambda^2 + n(11+18\lambda))\lambda^2x^2 \\ &\quad + (c\lambda^3 + n(6+11\lambda+6\lambda^2))\lambda x]. \end{aligned}$$

Proof. From (2), we have

$$\begin{aligned} \mathcal{H}_{n,m}(e_0) &= 1; \quad \mathcal{H}_{n,m}(e_1) = \frac{m\lambda}{n\lambda - c}, \quad \mathcal{H}_{n,m}(e_2) = \frac{m\lambda(m\lambda+1)}{(n\lambda - c)(n\lambda - 2c)}; \\ \mathcal{H}_{n,m}(e_3) &= \frac{m\lambda(m\lambda+1)(m\lambda+2)}{(n\lambda - c)(n\lambda - 2c)(n\lambda - 3c)}; \quad \mathcal{H}_{n,m}(e_4) = \frac{m\lambda(m\lambda+1)(m\lambda+2)(m\lambda+3)}{(n\lambda - c)(n\lambda - 2c)(n\lambda - 3c)(n\lambda - 4c)}. \end{aligned}$$

In view of these equalities, we get the required result. \square

LEMMA 2.2. The moments of operators (5) with $e_r(t) = t^r$, $r \in \mathbb{N} \cup \{0\}$ are:

$$\begin{aligned} M_{n,c}(e_0; x) &= 1; \\ M_{n,c}(e_1; x) &= \frac{1}{n-2c}[nx+1]; \\ M_{n,c}(e_2; x) &= \frac{1}{(n^2-5cn+6c^2)}[(cn+n^2)x^2+4nx+2]; \\ M_{n,c}(e_3; x) &= \frac{1}{(n^2-5cn+6c^2)(n-4c)}[n(2c^2+3cn+n^2)x^3+9n(c+n)x^2+18nx+6]; \\ M_{n,c}(e_4; x) &= \frac{1}{(n^2-5cn+6c^2)(n-4c)(n-5c)}\left[n(6c^3+11c^2n+6cn^2+n^3)x^4 \right. \\ &\quad \left. + 16n(2c^2+3cn+n^2)x^3+72n(c+n)x^2+96nx+24\right]. \end{aligned}$$

Proof. From the equation (6), we obtain

$$\Upsilon_{n,m}(e_0, x) = 1; \quad \Upsilon_{n,m}(e_1, x) = \frac{m+1}{(n-2c)}; \quad \Upsilon_{n,m}(e_2, x) = \frac{(m+1)(m+2)}{(n-2c)(n-3c)};$$

$$\Upsilon_{n,m}(e_3, x) = \frac{(m+1)(m+2)(m+3)}{(n-2c)(n-3c)(n-4c)}; \quad \Upsilon_{n,m}(e_4, x) = \frac{(m+1)(m+2)(m+3)(m+4)}{(n-2c)(n-3c)(n-4c)(n-5c)}.$$

Using these equalities, we get the required result. \square

3. Hypergeometric form

The hypergeometric series and the confluent hypergeometric series are defined as:

$${}_2F_1(a, b; c; x) = \sum_{m=0}^{\infty} \frac{(a)_m (b)_m}{(c)_m m!} x^m \quad \text{and} \quad {}_1F_1(a, b; x) = \sum_{m=0}^{\infty} \frac{(a)_m}{(b)_m m!} x^m,$$

respectively, where the Pochhammer symbol $(n)_m$ is defined as:

$$(n)_m = n(n+1)(n+2)(n+3)\dots(n+m-1).$$

LEMMA 3.1. For $n > 0$ and $r \geq 1$, we have

$$M_{n,c}(e_r; x) = \frac{\Gamma(r+1) \Gamma(\frac{n}{c} - r - 1)}{c^r \Gamma(\frac{n}{c} - 1)} {}_2F_1\left(\frac{n}{c}, -r; 1; -cx\right).$$

Proof. Using the equations (4) and (6) and the Pochhammer symbol $(n)_k$, we have

$$\begin{aligned} M_{n,c}(e_r; x) &= (n-c) \sum_{m=0}^{\infty} \vartheta_{n,m}(x, c) \int_0^{\infty} \frac{(\frac{n}{c})_m}{m!} \frac{(tc)^m}{(1+ct)^{\frac{n}{c}+m}} t^r dt \\ &= (n-c) \sum_{m=0}^{\infty} \vartheta_{n,m}(x, c) \frac{(\frac{n}{c})_m}{m!} \frac{1}{c^r} \int_0^{\infty} \frac{(tc)^{m+r}}{(1+ct)^{\frac{n}{c}+m}} dt \\ &= (n-c) \sum_{m=0}^{\infty} \vartheta_{n,m}(x, c) \frac{(\frac{n}{c})_m}{m!} \frac{1}{c^{r+1}} \beta\left(r+m+1, \frac{n}{c} - r - 1\right) \\ &= \frac{r! \Gamma(\frac{n}{c} - r - 1)}{c^r \Gamma(\frac{n}{c} - 1)} (1+cx)^{-\frac{n}{c}} \sum_{m=0}^{\infty} \frac{(r+1)_m}{m! (1)_m} \left(\frac{cx}{1+cx}\right)^m \\ &= \frac{\Gamma(r+1) \Gamma(\frac{n}{c} - r - 1)}{c^r \Gamma(\frac{n}{c} - 1)} {}_2F_1\left(\frac{n}{c}, -r; 1; -cx\right). \end{aligned} \quad \square$$

4. Difference of operators

Let $C_B[0, \infty)$ be the class of bounded continuous functions defined on $[0, \infty)$ with the norm $\|\cdot\| = \sup_{x \in [0, \infty)} |f(x)| < \infty$. In order to present the main results, we need some useful notation.

For $i \in \mathbb{N}$, let $e_i(x) = x^i$, $x \in [0, \infty)$. Let H be a positive linear functional defined on a subspace \mathbb{B} of the closed space $C[0, \infty)$, such that $G(e_0) = 1$, $b^H := H(e_1)$ and $\mu_r^H = H(e_1 - b^H e_0)^r$, $r \in \mathbb{N}$.

Let us consider the operators (1) and (5). We have the following quantitative general results.

REMARK 4.1. From the generalised Păltănea type operators (1) we have

$$\mathcal{H}_{n,m}(f) = f\left(\frac{m}{n}\right), \text{ such that } \mathcal{H}_{n,m}(e_0) = 1, \quad b^{\mathcal{H}_{n,m}} := \mathcal{H}_{n,m}(e_1)$$

and $\mu_r^{\mathcal{H}_{n,m}} = \mathcal{H}_{n,m}(e_1 - b^{\mathcal{H}_{n,m}}e_0)^r, \quad r \in \mathbb{N}$.

By simple calculations, we obtain

$$\begin{aligned} \mathcal{H}_{n,m}(e_1) &= \frac{\Gamma(m\lambda+1)}{\Gamma(m\lambda)} \frac{1}{m\lambda-c} = \frac{m\lambda}{n\lambda-c}; \\ \mu_2^{\mathcal{H}_{n,m}} &= \mathcal{H}_{n,m}(e_1 - b^{\mathcal{H}_{n,m}}e_0)^2 \\ &= \mathcal{H}_{n,m}\left(e_2 + \left(\frac{m\lambda}{n\lambda-c}\right)^2 e_0^2 - 2e_1 \frac{m\lambda}{n\lambda-c}\right) = \frac{m^2\lambda^2c + m\lambda(n\lambda-c)}{(n\lambda-c)^2(n\lambda-2c)}; \\ \mu_4^{\mathcal{H}_{n,m}} &= \mathcal{H}_{n,m}(e_1 - b^{\mathcal{H}_{n,m}}e_0)^4 \\ &= \frac{1}{(n\lambda-c)^4(n\lambda-2c)(n\lambda-3c)(n\lambda-4c)} \left[-6m\lambda(c-n\lambda)^3 + 3m^4c^2\lambda^4(5c+n\lambda) \right. \\ &\quad \left. + 6k^3c\lambda^3(-5c^2+4cn\lambda+n^2\lambda^2) + 3k^2\lambda^2(c-n\lambda)^2(7c+n\rho) \right]. \end{aligned}$$

REMARK 4.2. From the Hielmann type operators (5), we have $\Upsilon_{n,m}(e_0) = 1, b^{\Upsilon_{n,m}} = \Upsilon_{n,m}(e_1) = \frac{m+1}{n-2c}$. By simple calculations, we obtain

$$\begin{aligned} \mu_2^{\Upsilon_{n,m}} &= \Upsilon_{n,m}(e_1 - b^{\Upsilon_{n,m}}e_0)^2 = \frac{cm^2 + nm + n - c}{(n-2c)^2(n-3c)}; \\ \mu_4^{\Upsilon_{n,m}} &= \frac{1}{(n-2c)^2(n-3c)(n-4c)(n-5c)} \left[3c^2m^4(4c+n) + 6cm^3n(4c+n) \right. \\ &\quad \left. + 3m^2n(-2c^2+8cn+n^2) - 6m(c-2n)n^2 + 3(-4c^3+9c^2n-8cn^2+3n^3) \right]. \end{aligned}$$

REMARK 4.3. For positive linear functionals $\mathcal{H}_{n,m}$ and $\Upsilon_{n,m}$, we estimate

$$\delta_2^2 = \sum_{m=0}^{\infty} \vartheta_{n,m} (b^{\mathcal{H}_{n,m}} - b^{\Upsilon_{n,m}})^2.$$

Using Remarks 4.1 and 4.2, we get

$$\begin{aligned} \delta_2^2 &= \sum_{m=0}^{\infty} \vartheta_{n,m} \left(\frac{m\lambda}{n\lambda-c} - \frac{m+1}{n-2c} \right)^2 \\ &= \frac{1}{(n\lambda-c)^2(n-2c)^2} \sum_{m=0}^{\infty} \vartheta_{n,m} (m\lambda(n-2c) - (m+1)(n\lambda-c))^2 \\ &= \frac{1}{(n\lambda-c)^2(n-2c)^2} \sum_{m=0}^{\infty} \frac{(n/c)_m}{m!} \frac{(cx)^m}{(1+cx)^{n/c+m}} \\ &\quad \times [c^2\lambda^2(1-2\lambda)^2 - 2ck(-1+2\lambda)(c-n\lambda) + (c-n\lambda)^2] \end{aligned}$$

$$= \frac{nx(1+cx+nx)c^2(1-2\lambda)^2 - 2nxc(-1+2\lambda)(c-n\lambda) + (c-n\lambda)^2}{(n\lambda-c)^2(n-2c)^2}.$$

REMARK 4.4. For positive linear functionals $\mathcal{H}_{n,m}$ and $\Upsilon_{n,m}$, with the help of Remarks 4.1 and 4.2, we estimate

$$\begin{aligned} \alpha(x) &= \frac{1}{2} \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(\mu_2^{\mathcal{H}_{n,m}} + \mu_2^{\Upsilon_{n,m}} \right) \\ &= \frac{1}{2} \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(\frac{m^2\lambda^2c + m\lambda(n\lambda - c)}{(n\lambda - c)^2(n\lambda - 2c)} + \frac{cm^2 + nm + n - c}{(n - 2c)^2(n - 3c)} \right) \\ &= \frac{1}{2(n\lambda - c)^2(n\lambda - 2c)(n - 2c)^2(n - 3c)} \\ &\quad \times \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(cm^2(-11cn^2\lambda^2 + n^3\lambda^2(1 + \lambda) + c^2n\lambda(5 + 16\lambda) - 2c^3(1 + 6\lambda^2)) \right. \\ &\quad \left. + m(12c^4\lambda + n^4\lambda^2(1 + \lambda) + 4c^2n^2\lambda(3 + 4\lambda) - cn^3\lambda(1 + 11\lambda) - 2c^3n(1 + 8\lambda + 6\lambda^2)) \right. \\ &\quad \left. + (c - n)(c - n\lambda)^2(2c - n\lambda) \right) \\ &= \frac{1}{2(n - 2c)^2(n - 3c)(n\lambda - c)^2(n\lambda - 2c)} \left[(c - n)(c - n\lambda)^2(2c - n\lambda) \right. \\ &\quad \left. + cnx(1 + cx + nx)(-11cn^2\lambda^2 + n^3\lambda^2(1 + \lambda) + c^2n\lambda(5 + 16\lambda)) \right. \\ &\quad \left. - 2c^4nx(1 + cx + nx)(1 + 6\lambda^2) + nx(12c^4\lambda + n^4\lambda^2(1 + \lambda) + 4c^2n^2\lambda(3 + 4\lambda)) \right. \\ &\quad \left. - cn^4x\lambda((1 + 11\lambda) - 2c^3n(1 + 8\lambda + 6\lambda^2)) \right]. \end{aligned}$$

THEOREM 4.5. For $n \in \mathbb{N}$, let $f^i \in C_B$, $i \in \{0, 1, 2\}$ and $x \in [0, \infty)$. We have

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq \|f''\| \alpha(x) + \omega(f'', \delta_1)(1 + \alpha(x)) + 2\omega(f, \delta_2),$$

where $\alpha(x) = \frac{1}{2} \sum_{m=0}^{\infty} \vartheta_{n,m} \left(\mu_2^{\mathcal{H}_{n,m}} + \mu_2^{\Upsilon_{n,m}} \right),$

$$\delta_1^2 = \frac{1}{2} \sum_{m=0}^{\infty} \vartheta_{n,m} \left(\mu_4^{\mathcal{H}_{n,m}} + \mu_4^{\Upsilon_{n,m}} \right) \text{ and } \delta_2^2 = \sum_{m=0}^{\infty} \vartheta_{n,m} (b^{\mathcal{H}_{n,m}} - b^{\Upsilon_{n,m}})^2.$$

Now, we establish quantitative estimates for the difference of generalized Păltănea type operators (1) and Heilmann type operators (5) with the help of Theorem 4.5.

THEOREM 4.6. Let $f^i \in C_B$, $i \in \{0, 1, 2\}$ and $x \in [0, \infty)$. Then for $n \in \mathbb{N}$, we have

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq \|f''\| \alpha(x) + \omega(f'', \delta_1)(1 + \alpha(x)) + 2\omega(f, \delta_2),$$

where

$$\begin{aligned} \alpha(x) &= \frac{1}{2(n-2c)^2(n-3c)(n\lambda-c)^2(n\lambda-2c)} \left[(c-n)(c-n\lambda)^2(2c-n\lambda) \right. \\ &\quad \left. + cnx(1+cx+nx)(-11cn^2\lambda^2+n^3\lambda^2(1+\lambda)+c^2n\lambda(5+16\lambda)-2c^3(1+6\lambda^2)) \right. \\ &\quad \left. + nx(12c^4\lambda+n^4\lambda^2(1+\lambda)+4c^2n^2\lambda(3+4\lambda)-cn^3\lambda(1+11\lambda)-2c^3n(1+8\lambda+6\lambda^2)) \right], \end{aligned}$$

$$\delta_1^2 = \frac{1}{(n-2c)^4(n-3c)(n-4c)(n-5c)(n\lambda-c)^4(n\lambda-2c)(n\lambda-3c)(n\lambda-4c)} \\ \times \left[s_1 n ((n+c)(n+2c)(n+3c)x^4 + 6(n+c)(n+2c)x^3 + 7(n+c)x^2 + x) \right. \\ \left. + s_2 nx (1+3cx+3nx+2c^2x^2+3cnx^2+n^2x^2) + s_3 nx(1+cx+nx) + s_4 nx + s_5 \right], \\ \delta_2^2 = \frac{nx(1+cx+nx)c^2(1-2\lambda)^2 - 2cnx(-1+2\lambda)(c-n\lambda) + (c-n\lambda)^2}{(n-2c)^2(n\lambda-c)^2},$$

and

$$s_1 = 3c^2 ((3c-n)(4c-n)(5c-n)(-2c+n)^4(5c\lambda^4+n\lambda^5) \\ + (c-n\lambda)^4(2c-n\lambda)(3c-n\lambda)(4c-n\lambda)(4c+n)); \\ s_2 = 6c ((3c-n)(4c-n)(5c-n)(-2c+n)^4(-5c^2\lambda^3+4cn\lambda^4+n^2\lambda^5) \\ + (c-n\lambda)^4(2c-n\lambda)(3c-n\lambda)(4c-n\lambda)(4cn+n^2)); \\ s_3 = 3 ((3c-n)(4c-n)(5c-n)(-2c+n)^4(7c^3\lambda^2-13c^2n\lambda^3+5cn^2\lambda^4+n^3\lambda^5) \\ + (c-n\lambda)^4(2c-n\lambda)(3c-n\lambda)(4c-n\lambda)(-2c^2n+8cn^2+n^3)); \\ s_4 = ((3c-n)(4c-n)(5c-n)(-2c+n)^4(-6c^3\lambda+18c^2n\lambda^2-18cn^2\lambda^3+6n^3\lambda^4) \\ + (c-n\lambda)^4(2c-n\lambda)(3c-n\lambda)(4c-n\lambda)(-6cn^2+12n^3)); \\ s_5 = 3(-4c^3+9c^2n-8cn^2+3n^3)(c-n\lambda)^4(2c-n\lambda)(3c-n\lambda)(4c-n\lambda).$$

Proof. By direct computation, using Remarks 4.1, 4.2 and 4.3. \square

THEOREM 4.7 ([9]). *It $f \in C_B[0, \infty)$ with $f'' \in C_B[0, \infty)$, then*

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq \alpha(x)\|f''\| + 2\omega(f; \beta(x))$$

where

$$\alpha(x) = \frac{1}{2} \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(\mu_2^{\mathcal{H}_{n,m}} + \mu_2^{\Upsilon_{n,m}} \right), \quad \beta(x) = \left(\sum_{m=0}^{\infty} \vartheta_{n,m}(x) (b^{\mathcal{H}_{n,m}} - b^{\Upsilon_{n,m}})^2 \right)^{\frac{1}{2}}.$$

The above theorem can be utilized to estimate the difference between operators (1) and (5).

THEOREM 4.8. *It $f \in C_B[0, \infty)$ with $f'' \in C_B[0, \infty)$, then*

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq \alpha(x)\|f''\| + 2\omega(f; \beta(x)),$$

where

$$\alpha(x) = \frac{1}{2(n-2c)^2(n-3c)(n\lambda-c)^2(n\lambda-2c)} \left[(c-n)(c-n\lambda)^2(2c-n\lambda) \right. \\ \left. + cnx(1+cx+nx)(-11cn^2\lambda^2+n^3\lambda^2(1+\lambda)+c^2n\lambda(5+16\lambda)-2c^3(1+6\lambda^2)) \right. \\ \left. + nx(12c^4\lambda+n^4\lambda^2(1+\lambda)+4c^2n^2\lambda(3+4\lambda)-cn^3\lambda(1+11\lambda)-2c^3n(1+8\lambda+6\lambda^2)) \right], \\ \beta(x) = \frac{1}{(n\lambda-c)(n-2c)} \left(nx(1+cx+nx)c^2(1-2\lambda)^2 - 2nxc(-1+2\lambda)(c-n\lambda) + (c-n\lambda)^2 \right)^{\frac{1}{2}}.$$

Proof. Follows directly from Remarks 4.3 and 4.4. □

5. Estimate with K-functional

In this section, we shall estimate the approximation of operators (1) and (5) in terms of K-functional. Let $\omega_2(f, \delta)$ denote the modulus of smoothness of f on the closed and bounded interval $[0, b]$, $b > 0$ and defined as:

$$\omega_2(f, \delta) = \sup_{0 < h \leq \delta} \sup_{x \in [0, \infty)} |f(x + 2h) - 2f(x + h) + f(x)|,$$

and Peetre's K-functional is defined as:

$$K_2(f; \delta) = \inf_{g \in C_B[0, \infty)} \{\|f - g\| + \delta \|g''\| : g \in C_B[0, \infty)\}.$$

Let $C_B[0, \infty) = \{f : [0, \infty) \rightarrow \mathbb{R}; f \text{ is bounded and continuous}\}$, with the norm $\|f\| = \sup_{x \in [0, \infty)} |f(x)|$ and $W^2 = \{f \in C_B[0, \infty) : f', f'' \in C_B[0, \infty)\}$.

A relation between the second order modulus of smoothness and Peetre's K-functional is given by: $K_2(f; \delta) \leq C_0 \omega_2(f; \delta)$, where C_0 is an absolute constant. Now, we suppose that $W^2 \subset D$.

THEOREM 5.1 ([4]). *Let $f \in D \cap C_B[0, \infty)$ and $f' \in C_B[0, \infty)$. Then*

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq 4K_2\left(f : \frac{1}{8}\eta(x)\right) + \|f'\|\mu(x),$$

where
$$\eta(x) = \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(\mu_2^{\mathcal{H}_{n,m}} + \mu_2^{\Upsilon_{n,m}}\right),$$

and
$$\mu(x) = \sum_{m=0}^{\infty} \vartheta_{n,m} |b^{\mathcal{H}_{n,m}} - b^{\Upsilon_{n,m}}| \leq \sum_{m=0}^{\infty} \vartheta_{n,m} (|b^{\mathcal{H}_{n,m}}| + |b^{\Upsilon_{n,m}}|).$$

Now, we give an important result in terms of K-functional from Theorem 5.1.

THEOREM 5.2. *Let $f \in D \cap C_B[0, \infty)$ and $f' \in C_B[0, \infty)$. For $n > \max\{\frac{c}{\lambda}, 2c\}$, we have*

$$|(L_{n,c}^\lambda - M_{n,c})(f; x)| \leq 4K_2\left(f : \frac{1}{4}\alpha(x)\right) + \|f'\| \left(\frac{n\lambda(1 + 2nx) - nxc(1 + 2\lambda) - c}{(n - 2c)(n\lambda - c)}\right),$$

where

$$\alpha(x) = \frac{1}{2(n-2c)^2(n-3c)(n\lambda-c)^2(n\lambda-2c)} \left[(c-n)(c-n\lambda)^2(2c-n\lambda) + cnx(1+cx+nx)(-11cn^2\lambda^2+n^3\lambda^2(1+\lambda)+c^2n\lambda(5+16\lambda)-2c^3(1+6\lambda^2)) + nx(12c^4\lambda+n^4\lambda^2(1+\lambda)+4c^2n^2\lambda(3+4\lambda)-cn^3\lambda(1+11\lambda)-2c^3n(1+8\lambda+6\lambda^2)) \right],$$

Proof. For $f \in D \cap C_B[0, \infty)$ and $n > 2c, n\lambda > c$, using operators (1) and (5), we have

$$\mu(x) \leq \sum_{m=0}^{\infty} \vartheta_{n,m}(x) (|b^{\mathcal{H}_{n,m}}| + |b^{\Upsilon_{n,m}}|) \leq \sum_{m=0}^{\infty} \vartheta_{n,m}(x) \left(\frac{m\lambda}{n\lambda - c} + \frac{m + 1}{n - 2c}\right)$$

$$\leq \frac{nx\lambda}{n\lambda - c} + \frac{1 + nx}{n - 2c} \leq \frac{n\lambda(1 + 2nx) - ncx(1 + 2\lambda) - c}{(n - 2c)(n\lambda - c)}. \quad (7)$$

It is obvious that the required result follows from (7) and Remark 4.3. \square

ACKNOWLEDGEMENT. We thank the Editors and the anonymous reviewer for his/her helpful suggestions, which improved this paper significantly.

REFERENCES

- [1] A. M. Acu, I. Rasa, *New estimates for the difference of positive linear operators*, Numer. Algorithms, **73** (2016), 775–789.
- [2] A. M. Acu, C. V. Muraru, *Certain approximation properties of Srivastava-Gupta operators*, J. Math. Inequal., **12**(2) (2018), 583–595.
- [3] A. M. Acu, I. Rasa, *New estimates for the differences of positive linear operators*, Numer. Algorithms., **73** (2016), 775–789.
- [4] A. Aral, D. Inoan, I. Rasa, *On differences of linear positive operators*, Anal. Math. Phys., **9**(3) (2019), 1227–1239.
- [5] N. Deo, M. Dhamija, D. Miclăuş, *Stancu-Kantorovich operators based on inverse Pólya-Eggenberger distribution*, Appl. Math. Comput., **273**(1) (2016), 281–289.
- [6] Z. Finta, V. Gupta, *Direct and inverse estimates for Phillipse type operators*, J. Math. Anal. Appl., **303**(2) (2005), 627–642.
- [7] V. Gupta, *Convergence Estimates of Certain Exponential Type Operators*, Mathematical Analysis I: Approximation Theory (Ed: Deo et al.) ICRAPAM 2018, New Delhi, 47–55.
- [8] V. Gupta, *Differences of operators of Lupas type*, Constructive Math. Anal., **1** (2018), 9-14.
- [9] V. Gupta, *On difference of operators with application to Szász type operators*, Rev. R. Acad. Cienc. Exactas Fis. Nat., Ser. A Mat., **113**(3) (2019), 2059–2071.
- [10] M. Hielmann, *Direct and converse results for operators of Baskakov-Durrmeyer type*, Approx. Theory Appl., **5**(1) (1989), 105–127.
- [11] Neha, N. Deo, *A study on the difference of Mastroianni and Gupta operators*, Kragujevac J. Math., **47**(2) (2023), 259-269.
- [12] R. Păltănea, *Modified Szász-Mirakyan operators of integral form*, Carpathian J. Math., **24**(3) (2008), 378–385.
- [13] R. S. Phillips, *An inversion formula for Laplace transforms and semi-groups of linear operators*, Ann. Math., **59**(2) (1954), 325–356.
- [14] H. M. Srivastava, V. Gupta, *A certain family of summation integral type operators*, Math. Comput. Modelling, **37**(12-13) (2003), 1307–1315.
- [15] D. K. Verma, *Approximation by generalized Srivastava-Gupta operators based on certain parameter*, Publ. Inst. Math., Nouv. Sér., **101**(115) (2017), 247–259.

(received 21.07.2020; in revised form 15.06.2021; available online 04.01.2022)

Delhi Technological University, Department of Applied Mathematics, Bawana Road, Delhi-110042, India

E-mail: sandeepkumardps@gmail.com

Delhi Technological University, Department of Applied Mathematics, Bawana Road, Delhi-110042, India

E-mail: naokantdeo@dce.ac.in